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COMMON QUARTERLY EXAMINATION - 2024

¢ Standard VIII RegNo | [T TTT]
MATHEMATICS ‘ \
Time s 230 A Part-| Marks : 100
. - arks:
L Chooss the correct answer: : 14x1=14
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< i oithess rationa! numbers which are additive inverse?
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a) 5 b) 6 c) 7 e dig
& By ‘nzt‘:ai number should (—4) 7 be muidple so that the prod'uct becemes 1012
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z) - b) — = —
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f. ~Ihecross section of a sofid cylinder
2) souzre " b) circle c) rectangle d) sphere
£ Tnezrzzofasgquare is 38x%2 thenits side is
2) Ex42 b) &x%?  ©) 6xy d) -6x%
S. Fmeareaofthe rectangle is 48m?n3whose lengthis 8mn?, then its breadth is

z) &mn b) 8m?n ¢) 7m3n? d) 6m2n2

10. When 80 is subtracted from 60% of a numberto give 60, the numberis

a) 60 b) 100 c) 150 d) 200
11. Byseling afiow

er potfor 2528, a woman gains 20%. At what price should she sell

a) 7500 b) T550 c) 1553 d) 3573
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Vil Maths

12. The cost of a machine 718,000 and it deprecnates at 16 % annually. its value

after two years will Bg
a) ¥12000 b 312,500

¢ 715000  d)¥16,500

1 3. Two similar triangles will always have ____angles. ,
a) acute . b)- obtuse . ¢) right d) match
14. If AABC~ APQR in WhICh ZA= 53° and ZQ=77° then £Ris
a) 500 ~  b) 60° ) 70° . d)se°
* © Part-l
Il. Answer any10 questions. =t 10x2=20 -
15. Compare the pairs of rational number 34 _21

16: Find the square rootof%g% T :
1T -Firid the Smél]e?t number by which 200 should be multxpl:ed to make ita perfect
g __cubef_l_ - %% *H Woee s & 5 :
18. Find the value of 4.

19, A circular shaped gymnasium ring‘o.f ra

shaded with different colours. Find the length of each of the arc.

20. Find the area of the sectorwhose length of arc48 mand radius 10 m.
Verify Euler's formula for the faces 6, vertices 8 and edges 12 for polyhedrons.

dius 35 cm is divided into 5 equal arcs

21.
22. Find the product of 3x2y, —3xy3, x2y?

23. Divide : 45x3y24 = (—15xyz)

- 24, Simplify : aﬂ— 2—";— |

25. If x% of 600 is 45tr)n then f nd the value of X.

26. Ifthe selling price of 10 rulers is the same as the cost price of 15 rulers, then find

the profit in'percentage.
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3' VIl Maths
27 Flndthedlfference mCIandSIforP %5000, r=4%p.a, n= 2years |

28. Find the unknowns in the given figure.

: R :

29. Canaright triangle have sides that measires 5 cm, 12 cm and 13 cm?
| ' Part- Il -

" lll. Answer any 10 questions M

1

10 x5 =50
- 30. a=5,b-— thenﬁnd(a+b) (a- b)

~ 31. Find the square root of 11 025 by long dIVISIOl'I method
32. Find the cube root of 24x 36 X 80 X 25 :

= T
3

.33 Solve forx =0~
5

34. Find the central angle of each of the sectors whose area |s 462 cm"’ and radlus
cm. | 7= g5, . | sl tin
35. Find the perimeter and areaofthegivenfigure. . .. .. cit)
~ :
- 10m N
36. A rocketdrawmg has the measures as gwen inthefi gure Fmd its area.

/

20 cm

20

50 cm

30cm

A

120 cm
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37,

4 ~ VIl Maths

Multiply (2x + 5y) and (3x - 4Y)
If 1= 4pa2, b = =3p?q, h = 2p°q? then find the valueof /I xbxh

38.
30, Divide : 5xy2 — 18x%y> +6xy by 6xy.
40. The income of a person is increased by 10% and then decreased by 10%. Find
the change in his income.
41. Find the single discount in percentage which is equivalent to two successive
discounts of 25% and 20% given on an article.
42, The value of a motorcycle 2 years ago was ¥70,000. It depreciates at the rate of
4% p.a. Find its present value. ‘
43. Inthe given figure, APQR ~ AXYZ.Find aand b.
) ¢
d
P 1ocm R,"x 16cm * i =
44, Fmd the quadrants without plomng the pomts onagraph sheet.
(3:-4) (67) (2.0) (-3-5) (0,10) ‘
Part - IV A
IV. Answer the followmg questions. - 2x8=16"
~ 45. a) Construct the quadrilateral with given measurements, also find its area.
ABCD,AB= 5cm BC=45cm,CD=3.8cm, DA= 44cmandAC 6.2cm.
- (OR)
b) Construct a trapezium CARD in which is CA parallel to pg, CA=9 cm,
| ZCAR=T70°AR=6cmandCD=7 cm. Also find its area.
46. a) Plot the following points in graph sheet.
A(5,2), B(~7,-3), C(-2,4), D(0,-5), E(2,0)
| (OR) .
b) Draw a Ilnejommg the points A(-2,6) and B(4, -3) in graph. Sheét
\
B
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